
Roof bar kit Trafic/Vivaro/Talento/NV300 14- H1, 2 bars

4 x 62886 2 x 73212 4 x R6283

8 x M88 x M8x16 

RR440125000

8 x M6x25 R6600

Max.

i

Max.

5.2 kg=

1

10 10

M6x25

12Nm

a

2

M8x16

M8

20Nm

8 x R6289

R9040


	Bild 33: RR440125000 Trafic 2bars

